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2 H4X E [ AR RIEMG Wik B=E
YN 612 =i 5kg e kg 850 EE
BEHN 12 =i 5kg e ke 800 EE
BEHN 8 =i 5kg e kg 750 EE
BEHN 102 =i 5kg e kg 700 EE
I HN 62 F8 [ 5kg e kg 850 UNiE
I HN 1B FE 5kg e kg 750 EiE
I HN 8E FE 5kg e kg 700 EiE
I HN 102 FE 5kg e kg 650 EiE
7o 19/202 51 5kg 8 kg | 1,350
7 10kg R=E 1A 75 kg | 1,300 ErEE
Y 9kg R=E 1A & kg | 1,000 EX EE
Y 8kg tR= 1A i kg 950 EX EE
Y Tke tR= 1A i kg 900 EX TEE
054 2E B8 | 10/13keg & kg 750 EiE
HUA 4kg = 1A ) kg | 1,300 # EF
HhIA 3E =5 9/11kg & kg | 1,000 # EF
ARXF 2/4FE Bi% 4/5kg e kg | 1,900 EiE
EA=E 5FE &% 5/5.5kg 5= kg | 2,950 8 s
VAP 2E =i 4/5kg 5= kg | 2,200 TE fEH
B 2R = 4/5kgE & kg | 1,500 INB
B 2R = 6/TkgH & kg | 1,400 INB
B 1.5/2kg R 1A & ke | 2,150 EE FEX
B 2kgh B 1A & kg | 1,900 EE
B 2R & = #a ke | 1,900 EiE
TH 1.5kgUP &5 1A £ kg | 2,700 ETE JEX
E£BYINE B 500g A P | 2,200
i: g 102 FTEE P P | 1,200
BET7 108 ZHE 1kg P P | 3500
HELoY PN 100g P P 500
Ry¥H #9300g | dLiEiE & kg | 1,600
1T&EYI &5 deiEE | 100gHifi g kg | 4,600
B/ 1B 40gUP A kg ke | 2,000
EDF EE kg kg | 2,200
<XTH/YD ;13 200g P P | 1,250
HHT 100/130g Ei& & kg | 2,600
HHT 150/180g Ei& & kg | 2,700
H4HT 200/250g | Ri& 1 kg | 2,800
HHT 250/300g FE & kg | 3,400
YT 300/400g FE & kg | 3,500
YT 400/500g FE & kg | 3,600
YT 500/600g FE & kg | 3,600
IEHHT 30/40g A 1l kg | 3,200
IEHHT 40/50g Ii]mi 1 kg | 2,950
EYHT 50/60g = & kg | 3,200




